INSTALLATION INSTRUCTIONS AND PARTSLIST
APPLICATION: MODEL 571663 MEGA STEP BRACKETS ON:
2016+ NISSAN TITAN CREW CAB PICKUPS
ROCKER PANEL MOUNT APPLICATION

NO DRILL APPLICATION

1. READ INSTRUCTIONS COMPLETELY AND CHECK TO MAKE SURE THAT ALL REQUIRED PARTS
(LISTED ON SERVICE PARTSLIST) ARE ON HAND BEFORE STARTING THE INSTALLATION.

2. INSTALL BRACKETS(ITEM #1), USING THE SUPPLIED FASTENERS (ITEM #2) M8 X 1.25, X 30mm
SCREW, (ITEM #3) 5/16 LOCK WASHER, & (ITEM #4) 5/16 FLAT WASHER, IN THE THREADED HOLES
OF THE ROCKER PANEL. ASSHOWN IN FIG 1.

3. NOTE: REMOVE ANY FACTORY PLUGSFROM THREADED MOUNTING HOLESIF EQUIPPED.

4. TIGHTEN ALL M8 FASENERS TO 19 LB/FT.

5. INSTALL BOARD PER SUPPLIED INSTRUCTIONS.

SERVICE PARTSLIST

ITEM | PARTNO. | QTY | DESCRIPTION
1 552964 8 BRKT-MTG, MEGA STEP/O-MEGA STEP, 571663
2 102549 16 M8-1.25 X 30MM SCREW, ZP
3 100030 16 | 5/16 LOCK WASHER, ZP
4 100034 16 | 5/16 FLAT WASHER, ZP

14
TRUCK EQUIPMENT




9TAVINET ¢ A0 ¢ IIAHS 9968G¢S — A1IS0dd0 HAIS (YAODNHSSV) LHOIY —

NMOHS HAIS (YEAINA) LAWT LT AIN0T HINYL

‘_ SATOH 2 HALISOdd0O HHL
9 dsn (LHODIY) @Al
JIONIASSYd THIL J0d
(L4dT) TAIS SYTAMA YO
SATOH 2 HSHHL dSn
' £99T4LG— ON THAON

LSTT SLIVd HOIALHS




